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OVERVIEW
MooIN discusses the meaning of 01WO12IP.

— MYl any IV‘)\D”Pﬂ V99
>""w9 explained that 01W01°217 means a Kidnapper.

NN asks on *"wdo:
=YNI? )2 INY 299 90901 VIPIIVNP HRY 9N (x,n 97 HYI924 NP P992T VYD

And ""w7s is difficult for in the first P22 of ny™>2 noon, the X1 states

that the minister 23> unp asked of 1''2° -
— 2m3m N77%) 999 1NNY DINND R NNN G0N 233 NNIY ¥72) DYDY %3y

Concerning the 2°9pw and the half shekel per head, that the *"12 gave in
the 727»; when they collected the money you find the amount to be two

hundred and one 22> and eleven 77 -
— 3995 77 XM NN 90N NN

However by the distribution of the silver you find that only a hundred

922 was distributed; so he asked 1"2°1 -
— N MNAVYNI P I1ONIN NN DIVDIIP IN NN 2)) B39 HYN

‘Was mw» your master a thief, or was he a 9120192 or he was not versed
in accounting?!’ This concludes the citation from that X723.

mooIn concludes his question on *"w7° that 01V is a kidnapper -
— DYPYN PNIDND MY 239 )y NN

And what is the relevance of a kidnapper to the missing 2°%pw; why would
0P NP consider 7w a kidnapper since there was money missing?!

moon offers an alternate translation:

' owrap n'7a.

? Six hundred and three thousand, five hundred and fifty Jews gave a 9pwi n°xnn for the 1own. There are
twenty-five 0°9pw (a 7pw is four 0>1°7) in a 7an (hundred 0°72°7). There are sixty 71 (fifteen hundred 2°%pw)
in a (7 W) 735; meaning that there are three thousand half-0°%pw in a nan (three hundred thousand half-
2°%pw in a hundred 71n). Six hundred thousand people at a half-7pw each equals two hundred 7an. The half
o%pw of the remaining three thousand five hundred and fifty people (which is seventeen hundred and
seventy-five 0°9pw) equals one 13> and eleven 7 (fifteen hundred o°9pw are one 133 and two hundred
seventy-five 0°7pw are eleven nn [there are twenty five 2°2pw in a man]).

*In (72,7 Mmw) "7 NI it mentions only one hundred 735 and seventeen hundred and seventy-five
°%pw; exactly half of what there should had been. 121 answered him that the 711 of w7pi7 was double that
of the 91 %W 711 and contained fifty o°2pw. The accounting is correct.
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Therefore the 11''9 explained that a ©1¥2y2p is one who plays with (dice)
cubes; a gambler.

MooIN anticipates a question:
— AW NYY 23 2INYY 9NN (nown nva THAY HIWNIAA TNINT NN

And that which is written in 739 n*wR92 concerning the P05 where the

angel ‘said to 2py°, send me off, for the dawn has arisen’
=9NYN )19 RIPHN NNRY NHN DIVDIP IN NNN 23) 99 TRIND APY* 1YY MINPT

So 2pys said to the angel, ‘are you a thief or a 2121217 that you fear the

dawn’ -
— NN DY0NPN YINAY

According to >"'w9p the w1771 is understood, for a kidnapper is afraid of the day

so he should not be caught -
— 1215 Y5 3133 ININ 13539 WINAY)

And even according to the 17''9 217°2 we can also say -
10119392 190 *1390 DIWUN 1YY MDY Y99 NP PHUNY DINT

That a person who gambles, usually has many creditors and he hides
from them, therefore he is also afraid of the day.

SUMMARY
"7 maintains that 010012p is a kidnapper, according to the 1"7 he is a
gambler.

THINKING IT OVER
Which of the two translation (of 01001°217) would be more appropriate in the
context of our X773 [that w737 DIVOP X 213 K¥N1]?

* The word X°2? (and 010W01"212) seem to be related to the English ‘cube’; referring to (gambling with) dice.
3 This is actually a X773 in 2,8% 9. [It is also found in 2"%5 nwx"2 (2w 1PY) RNIWLT XKNP°0D.]

6 15,9% (M2w") NwRMA.

7 Seemingly, why should a gambler be concerned that he will be seen during the day?!

¥ He owes money to those people to whom he lost in gambling with them.
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